HENEERZEGERES
SH5E9H27H (K)

Mt

$:550) (847 : kg)
EES G b B = = 1B Z 1B " =

S 228 T 1,245.9 259 40
THI 4,927.2 42 37
JUFHLA 112.6 1,212 20
LSHLA 618.3 604 20
TFELSHLA 218.5 1,349 269
=EHLA 872.4 429 20
IALA 188.4 869 309
<55 39.6 25
FARLY 766.1 1,919 125
IVAVTAFX 169.8 290 20
F7> 07 1,329.7 339 25
HFHS 806.3 89 33
TLINTN 29.4 39 20
ALY 93.9 5,005 301
DL 49.5 | 25,779 4,000 |52 U<
AL+ 74.9 300 20
AXFHd 561.9 1,300 20
sH= 42.9 5,000 123
GHH 67.5| 18,300 2,424 |0 "
>S54 hIF/ A 65.3 648 200
ZILAAF 7,057.6 640 254
ZILAA 1278 1,305.0 6,363 1,300 [Gn 2"

20,642.7




[f¥fa] (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
TE 228 A 11,562.3 695 69
e e . 5C/S
A %6 25.0 2,770 1,359 Bl /o
7+47 1,614.9 880 39

WAERA ATtNE

33,844.9




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &
BEERXFRIE 52& |TJU 618.2 490 39
H>INF 24.7 698 510
B X 121.4 2,509 300
_~ 169.1 529 50
>O0F 105.2 529 20
Nt 61.0 1,600 180
L ADE 45.6 2,229 1,690
AXF 226.2 1,909 800
JdEHAN 370.4 130 20
SFIA 156.7 4,559 500
TRIRD 28.3 1,500 30
ESWYXHTZ 24.9 509 230
Y= 319.7 1,300 459
BiE ot IR S A 2,719.5 705 329
NN AEtEE 4,990.9




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
BERRIE 52& |[TJU 22.2 100
E=5X 659.3 2,800 600
I5 A 26.1 1,800 1,000
mUiE 38 XAXF 21.3 1,700 800
#D 25& E=5X 346.2 3,300 1,300
he 18 <73 28.3 1,400 1,000
aituE 1,103.4




